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QUESTION 1

Kylee is creating a Flash animation banner. The banner is advertising a company\\'s change of ownership. In the
banner, the old company logo needs to morph into the new logo. What is the best way for Kylee to do this? 

A. Create a shape tween between the old and the new logos. 

B. Create a motion tween between the old and the new logos. 

C. Convert the logos into symbols and create a shape tween between the old and the new logos. 

D. Convert the logos into symbols and create a motion tween between the old and the new logos. 

Correct Answer: A 

 

QUESTION 2

David has designed a home page for an e-commerce Web site. At the left side of the page is a large block of text with
product names and prices. The right side features a detailed 100-pixel-by-200-pixel photo of a sample product. David
decides that his page appears to be balanced. How did the two elements balance each other? 

A. By size 

B. By color 

C. By value 

D. By shape 

Correct Answer: D 

 

QUESTION 3

Suandi is documenting the technology choices of his Web development team. In the document, he explains his reasons
for using JavaScript as a development language on the client side because: 

A. it is best suited for open-source browsers. 

B. it is compatible with the widest variety of Web browsers. 

C. it is the scripting version of the popular Java programming language. 

D. it was specifically developed for use with the Internet Explorer Web browser. 

Correct Answer: B 

 

QUESTION 4

Which of the following is true with regard to creating an XML application? 
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A. The application must always be run from a Web server. 

B. XML must always be embedded with XHTML, not HTML. 

C. The tags can use uppercase and lowercase characters. 

D. The application must be able to determine page structure if it is used on a Web page. 

Correct Answer: C 

 

QUESTION 5

A local philanthropic organization with a well-developed mission, vision and set of values has never had a Web site. The
organization has hired Manuel to design a site. The president and directors of the organization want the mission, vision
and values included in the site. This information is expressed as several paragraphs of text. What suggestion should
Manuel offer? 

A. Suggest replacing the information with a company slogan. 

B. Rewrite the mission, vision and values as single, short phrases. 

C. Include the mission, vision and values in their entirety on the home page. 

D. Provide a top-level link to a page containing the mission, vision and values information. 

Correct Answer: D 
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